ANSWER WITH EXPLANATION [SET - 41]

1. (d) 9. (b)
Pongal is a festival, and rest are different forms of 1/3 is a recurring or repeating number.
dance.
10. (d)
2. (a) g+9+7=24
PE has - 11 series, but rest three have +9 series. S+5+9=24
2+8+8=24
3.(b) A4+3+2=9%24
ATEP-
4x+10 — E -I-I(a)
x+10 1 First is the remedy for second.

= x = 5 years

30

12. (d)
Birds fly in sky, sky is called earth. So, earth is the
4. (a) correct answer.
CANCEL word is not derived from INTELLIGENCE.
13. (b)
5. (d) After changing sign:
DANCE=4+1+14+3+5=27 =15%x24+12-5+8
=15x2-5+8
6. (c) =33
< l6m
14. (d)
Sm Each consonant in the word is moved one step
forward to obtain the corresponding letter of the
16 m code, while the vowels remain unchanged.
8
- 15. (a)
5 g 12 17 23
Starting point |
+3 +4 +5 +6 +7
7.(c)
Rose .¢. Flowers (16-17):

| Mail
Marigold .ﬂ.@
8.(a)

16. (d) 17.(c)



18. (a)

20. (e)

(21 - 25):
Month Person | Company
January F Infosys
March G Blackberry
April C TCS
July D HTC
Aungust B Samsung
September H Godrej
December E Nokia

21.(c) 22.(d)

23.(b)  24.(a)

[If any query about these questions please contact 8167092555 from 10 am to 6 pm]

25. (d)



